Algebra 1 EOC Review		                                                Name: ____________________________
EOC Practice Test #3 – NO CALCULATOR!!!
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7. Consider the following set of data values that represent student grades on the EOC test.  
88, 77, 92, 80, 93, 75, 81, 50, 85

Part A: Would the mean, median, or mode be the best measure to describe the data?


Part B: Explain why you chose the answer you did in Part A. 
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The function f(x) = x - 9 Is shifted 2 units up and 3 units to the left. Select the new
function.

A g)=2x-6
B. g)=(-3)+7
C. gx)=3x-7
D. g)=x+3)-7
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Look at the sequence In this table.

1|2 |3

1] 1|3

Which function represents the sequence?
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What is the solution to this system of equations?

x-3y=1
x-2y=6

A (-4,-5)

B. (-2,-1)

c. (4.1)

D. (16.5)
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Jose wants to spend no more than $30 on apples and grapes for the month.
Apples cost $1.50 per pound, and grapes cost $2 per pound. Jose also wants his
monthly caloric intake from apples and grapes to be greater than 2000 calories.
He determines that 1 pound of apples has 200 calories and 1 pound of grapes has
300 calories.

Let a represent the number of pounds of apples, and g represent the number of
pounds of grapes. Which system of inequalities can be used to determine the
number of pounds of apples and grapes that Jose can buy for a month?

15a+2¢>30
2002 +300g > 2000
1.52+2g <30
2002 + 300g > 2000

2a+1.5¢ <30
3002 +200g > 2000

2a+15¢>30
* 2002+ 300g < 2000

o

D.




image9.png
What Is the end behavior of the graph of f(x) = ~0.25x? - 2x + 12
A. Asxincreases, f(x) increases.
As x decreases, f(x) decreases.

B. As x Increases, f(x) decreases.
As x decreases, f(x) decreases.

C. Asx ncreases, f(x) Increases.
As x decreases, T(x) Increases.

D. As x Increases, f(x) decreases.
As x decreases, T(x) Increases.
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Which sum Is rational?

A 7+18
V25 +1.75
V3+55
T2
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In which expression Is the coefficlent of term “n” - 1?
A 3n+4n-1

B. °+5n+4

C. -2n°-n+5

D. 4n°+n-5
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Look at the steps used when solving 3(x - 2) = 3 for X.

3x-2)=3

K-6=3

Write the original equation.
Use the Distributive Property.
Step1
Step 2
Step3
Step4.

Which step Is the result of combining like terms?
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Step 1
Step2
Step3
Step4
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The set of ordered palrs shown represents a function f.
1(-5. 3). (4,9), (3, -2). (0, 6)}

Select THREE ordered palrs that could be added to the set so that f remains.
a function.

A. (-3,-2)
4,0
0,-1)
1,6
2,3
(-5.9)
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